ESD RECORD COPY

RETURN TO SCIENTIFIC & TECHNICAL INSIGNATION DIVISION (ESTI), BUILDING 1211 ESD ACCESSION LIST.

ESTI Gall No.

Copy No.

Copy No.

Technical Note

1967-15

A Theorem on Spin-Eigenfunctions

T. A. Kaplan W. H. Kleiner

24 May 1967

Prepared under Electronic Systems Division Contract AF 19(628)-5167 by

Lincoln Laboratory

MASSACHUSETTS INSTITUTE OF TECHNOLOGY

Lexington, Massachusetts



ADO652840

The work reported in this document was performed at Lincoln Laboratory, a center for research operated by Massachusetts Institute of Technology, with the support of the U.S. Air Force under Contract AF 19(628)-5167.

This report may be reproduced to satisfy needs of U.S. Government agencies.

Distribution of this document is unlimited.

MASSACHUSETTS INSTITUTE OF TECHNOLOGY LINCOLN LABORATORY

A THEOREM ON SPIN-EIGENFUNCTIONS

T. A. KAPLAN

W. H. KLEINER

Group 81

TECHNICAL NOTE 1967-15

24 MAY 1967

		•	
		,	

ABSTRACT

A theorem is proved to the effect that a wave function for a set of N spins, which is a product of single-spin wave functions and which is an eigenstate of the square of the total spin $\overline{\bf S}$, must be a state with the maximum possible value of $\overline{\bf S}^2$ and of ${\bf S}_z$, z being an arbitrary direction. This theorem has been applied in a separate work by the authors to show strikingly that the imposition of symmetry restrictions of a common type on an approximate wave function can lead to a very poor physical description.

Accepted for the Air Force Franklin C. Hudson Chief, Lincoln Laboratory Office

			į

TABLE OF CONTENTS

I·.	INTRODUCT	ION				
II.	STATEMENT	AND	PROOF	OF	THEOREM	

		,
		1

A THEOREM ON SPIN-EIGENFUNCTIONS

I INTRODUCTION

In a paper by the authors on Hartree-Fock (HF) theory, [Phys. Rev. 156, 1 (1967)], an analogy is drawn between the HF approximation to a ground eigenfunction of a Hamiltonian H representing a system of electrons, and the Hartree approximation to the ground eigenstate of a Hamiltonian H_s representing a system of spins. An example is then presented which shows strikingly that making symmetry-restrictions on one's already otherwise restricted wave function (a rather common procedure) can lead to an extremely poor description.

Namely, let H_s be an isotropic Heisenberg Hamiltonian $-\Sigma$ J_{ij} $\overrightarrow{S}_i \cdot \overrightarrow{S}_j$ with exchange parameters J_{ij} chosen in such a way that the Hamiltonian represents an antiferromagnet. The \overrightarrow{S}_i are the individual spin operators satisfying by definition $\overrightarrow{S}_i^2 = S(S+1)$, independent of i. The Hamiltonian commutes with \overrightarrow{S}^2 , where $\overrightarrow{S} = \Sigma_{i=1}^{N} \overrightarrow{S}_i$. The exact energy eigenstates can, therefore, be chosen to be eigenstates of \overrightarrow{S}^2 also, and it is often helpful in practice to require this when dealing with exact

eigenstates. This suggests (following others) that we impose the same requirement on the Hartree approximation to the wave function. The latter, by definition, is of product form $\Psi = \Pi_{\dot{1}}\phi_{\dot{1}}, \text{ where } \phi_{\dot{1}} \text{ is a single-spin state. Let us therefore require that } \Psi \text{ be an eigenstate of } \overline{S}^2. \text{ The problem then, in this restricted Hartree theory, is to determine a lowest energy product wave function } \Psi \text{ that is an eigenstate of } \overline{S}^2. \text{ (This is completely analogous to a type of restriction conventionally used in symmetry-restricted HF theory).}$

We then make use of a theorem: a product Ψ of spin-s spin functions which is an eigenfunction of \overline{S}^2 has maximum multiplicity and the component of \overline{S} in some direction has the maximum possible value. According to this theorem, the only Ψ 's of product form which are eigenstates of \overline{S}^2 are ferromagnetic (with maximum value of \overline{S}^2). Thus, the symmetry-restricted Hartree approximation is the worst possible approximation in the present example of a Heisenberg antiferromagnet.

In the paper on Hartree-Fock theory mentioned earlier, the above theorem was stated without proof; the purpose of the present note is to supply the required proof, which is given in the next section.

It may be of interest to the reader that the theorem seemed to us to be very probably true, and we expected to find a very

simple proof without difficulty. Unfortunately, we have had to be satisfied with the following lengthy proof.

II. STATEMENT AND PROOF OF THEOREM

We first state the theorem more precisely and then give the proof.

Theorem. Let $\Psi = \phi_1(1)\phi_2(2)\dots\phi_N(N)$ be a product of spin functions ϕ_i such that $\overrightarrow{s_1}^2\phi_i(1) = s(s+1)\phi_i(1)$ and $\langle \phi_i|\phi_i \rangle = 1$ for $i=1,2,\dots,N$. If

$$\vec{S}^2 \Psi = \sigma (\sigma + 1) \Psi \tag{1}$$

where $\vec{S} = \sum_{i=1}^{N} \vec{s_i}$, then $\vec{s_1} \cdot \hat{z} \phi_i(1) = s\phi_i(1)$, i = 1, 2, ..., N for some unit vector \hat{z} , and hence $\sigma = Ns$.

<u>Proof.</u> Before giving the proof in detail we sketch an outline of it. We first prove the theorem for N = 2, since the proof for general N is relatively short and simple when based on the result for N = 2. The proof for N = 2 involves two parts depending on whether or not $\langle \phi_2 | \overrightarrow{s} | \phi_2 \rangle = 0$. The most lengthy argument by far concerns the $\langle \phi_2 | \overrightarrow{s} | \phi_2 \rangle = 0$ case.

It is convenient to define

$$Q \equiv \sum_{i < j} \vec{s}_{i} \cdot \vec{s}_{j}$$

$$= \frac{1}{2} \left[\vec{S}^{2} - \sum_{i=1}^{2} \vec{s}_{i}^{2} \right] = \frac{1}{2} \left[\vec{S}^{2} - Ns(s+1) \right]$$

and the eigenstate problem

$$Q\Psi = \lambda \Psi \tag{2}$$

equivalent to (1), where $\lambda = \frac{1}{2} \left[\sigma \left(\sigma + 1 \right) - \text{Ns} \left(s + 1 \right) \right]$.

Consider (2) first for N = 2.

$$\overrightarrow{\mathbf{s}}_{1} \cdot \overrightarrow{\mathbf{s}}_{2} \phi_{1}(1)\phi_{2}(2) = \lambda \phi_{1}(1)\phi_{2}(2) \tag{3}$$

Take the scalar product with ϕ_2 (2) to obtain

$$\overrightarrow{s}_{1} \cdot \overrightarrow{\sigma}_{2} \phi_{1} (1) = \lambda \phi_{1} (1) \tag{4}$$

where

$$\vec{\sigma}_{i} \equiv \langle \phi_{i} | \vec{s} | \phi_{i} \rangle \tag{5}$$

There are two cases to consider: (a) $\overrightarrow{\sigma}_2 \neq 0$ and (b) $\overrightarrow{\sigma}_2 = 0$.

(a)
$$\overrightarrow{\sigma}_2 \neq 0$$

From (4), ϕ_1 (1) is an eigenfunction $\chi_{\rm m}$ (1) of $\vec{s}_1 \cdot \hat{\sigma}_2$

$$\overrightarrow{s}_{1} \cdot \widehat{\sigma}_{2} \chi_{m}(1) = m \chi_{m}(1)$$
(6)

Expand $\boldsymbol{\phi}_{2}$ (2) in terms of the $\boldsymbol{\chi}_{\mathrm{m}}$

$$\phi_2 = \sum_{m'} b_{m'} \chi_{m'} \tag{7}$$

and substitute into (3) using

$$\vec{s}_{1} \cdot \vec{s}_{2} = s_{1z} s_{2z} + \frac{1}{2} s_{1+} s_{2-} + \frac{1}{2} s_{1-} s_{2+}$$
 (8)

where $s_{\pm} = s_{x} + is_{y}$. Obtain, using

$$s_{\pm} \chi_{m} = g_{\pm m} \chi_{m\pm 1}$$
 (9)

where $g_{m} \equiv [(s-m)(s+m+1)]^{1/2} = g_{-m-1}$

$$+ \frac{1}{2} g_{-m} \chi_{m-1}(1) \sum_{m'} g_{m'} b_{m'} \chi_{m'+1}(2) = \lambda \chi_{m}(1) \sum_{m'} b_{m'} \chi_{m'}(2)$$
(10)

Take the scalar product with $\chi_{\rm m}$ (1) $\chi_{\rm m'}$ (2), obtaining thereby

$$(mm' - \lambda)b_{m'} = 0$$
 (11)

This implies $b_{m'} = \delta_{m'\overline{m}}$ for some \overline{m} , $-s < \overline{m} < s$, and consequently $\lambda = m\overline{m}$. Substituting into (10) then yields

$$\overline{mm} \chi_{m}(1) \chi_{\overline{m}}(2) + \frac{1}{2} g_{m} g_{-\overline{m}} \chi_{m+1}(1) \chi_{\overline{m}-1}(2)$$

$$+\frac{1}{2}g_{-m}g_{\overline{m}}\chi_{m-1}(1)\chi_{\overline{m}+1}(2) = m\overline{m}\chi_{m}(1)\chi_{\overline{m}}(2)$$
 (12)

from which we conclude that

$$g_{m} g_{\overline{m}} = 0 \tag{13a}$$

$$g_{-m} g_{\overline{m}} = 0$$
 (13b)

Equations (13) require either $g_{m}=g_{\overline{m}}=0$ and hence $m=\overline{m}=s$, or $g_{-\overline{m}}=g_{-m}=0$ and hence $m=\overline{m}=-s$. Thus, we conclude that when $\overrightarrow{\sigma}_{2}\neq0$, (3) has only solutions of the type

$$\phi_{i} = \chi_{s} \qquad i = 1,2 \tag{14}$$

where $\overrightarrow{s}_1 \cdot \hat{z} \times_s (1) = s \times_s (1)$ with \hat{z} some unit vector.

For an alternate proof we note: once we know $\phi_1 = \chi_{\rm m}$, then we know immediately that the only possible product eigenfunctions of $\overline{\rm S}^2$ of the form $\chi_{\rm m}(1)\phi_2(2)$ are just $\chi_{\rm s}(1)\chi_{\rm s}(2)$ and $\chi_{-\rm s}(1)\chi_{-\rm s}(2)$.

(b)
$$\overrightarrow{\sigma}_2 = 0$$

In this case λ = 0 (excluding the physically uninteresting Ψ = 0 case) and (3) reduces to

$$\vec{s}_{1} \cdot \vec{s}_{2} \phi_{1}(1)\phi_{2}(2) = 0 \tag{15}$$

Choosing an arbitrary z-axis we expand ϕ_1 and ϕ_2

$$\phi_{1} = \sum_{m} a_{m} \chi_{m}$$
 (16a)

$$\phi_2 = \sum_{m'} b_{m'} \chi_{m'}$$
 (16b)

where

$$\hat{\mathbf{s}} \cdot \hat{\mathbf{z}} \chi_{\mathbf{m}} = \mathbf{m} \chi_{\mathbf{m}}$$
 -s < m < s (17)

Then, (15) becomes, on using (8) and (16),

$$\sum_{mm'} \left\{ mm' \ a_{m} \ b_{m'} \ \chi_{m}(1)\chi_{m'}(2) + \frac{1}{2} \ g_{m} \ g_{-m'} \ a_{m} \ b_{m'} \ \chi_{m+1}(1)\chi_{m'-1}(2) \right\}$$

$$+ \frac{1}{2} g_{-m} g_{m'} a_{m} b_{m'} \chi_{m-1}(1) \chi_{m+1}(2) = 0$$
 (18)

Taking the scalar product with $\chi_{\rm m}$ (1) $\chi_{\rm m'}$ (2) then gives

mm'
$$a_{m} b_{m'} + \frac{1}{2} g_{m-1} g_{m'} a_{m-1} b_{m'+1} + \frac{1}{2} g_{m} g_{m'-1} a_{m+1} b_{m'-1} = 0$$
(19)

Because (15) is symmetric with respect to interchange of 1 and 2, all consequences of (19) hold as well when a and b are interchanged.

Consider possible solutions of the set of $(2s+1)^2$ equations (19).

$$m = m' = s (\neq 0) \Rightarrow a_s b_s = 0$$

 $\underline{\text{CASE 1}} \qquad \qquad \mathbf{b_s} \neq 0 \Rightarrow \mathbf{a_s} = 0$

With m' = s, (19) reduces to

ms
$$a_m b_s + \frac{1}{2} g_m g_{s-1} a_{m+1} b_{s-1} = 0$$
 (20)

This implies $a_m = 0$, m = s - 1, s - 2, ..., 1 whether or not $b_{s-1} = 0$. With m = 1, (19) then becomes

$$\frac{1}{2} g_0 g_{m'} a_0 b_{m'+1} = 0 (21)$$

and with m' = s - 1 this becomes $g_0g_{s-1}a_0b_s=0$ which implies $a_0=0$. Further use of (20) then implies $a_m=0$, $m=-1,-2,\ldots$, -s. We therefore conclude for CASE 1 that there is no solution with $b_s\neq 0$, $a_s=0$. Naturally, we next ask if, with $a_s=0$, there is a solution of (19) with $b_s=0$ and $b_{s-1}\neq 0$. If not, we then ask if there is a solution with $b_s=b_{s-1}=0$, $b_{s-2}\neq 0$. And so on.

CASE 2

We shall proceed by treating the general case: we show that there is no solution of (19) with $b_s = b_{s-1} = \cdots = b_{s-k+1} = 0$ and $b_{s-k} \neq 0$, $k = 1, 2, \dots, 2s$. To prove this we

suppose the contrary to be true. With m' = s-k, (19) becomes

$$m(s-k)a_{m}b_{s-k} + \frac{1}{2}g_{m-1}g_{s-k}a_{m-1}b_{s-k+1} + \frac{1}{2}g_{m}g_{s-k-1}a_{m+1}b_{s-k-1} = 0$$
(22)

where now $b_{s-k+1} = 0$.

CASE 2.1 $k \neq s$, $k \neq 2s$. The argument is similar to that of CASE 1. Now (22) with $m = s \Rightarrow a_s = 0$, then $m = s - 1 \Rightarrow a_{s-1} = 0$, then $m = 1 \Rightarrow a_1 = 0$.

Thus, (22) implies $a_m=0$, m=s, s-1, ..., l. With m'=l in (19) we again obtain (20) which, with m'+l=s-k, reduces to

$$g_{0}g_{s-k-1}a_{0}b_{s-k} = 0 (23)$$

which implies

$$a_0 = 0$$

Then, (22) with $m = -1, -2, \dots, -s \Rightarrow a_m = 0$, $m = -1, -2, \dots, -s$. Thus, all the $a_m = 0$ and NO SOLUTION is possible in case 2.1.

CASE 2.2 k = s

(19) with m' = 1 becomes in this case

$$\frac{1}{2} g_{m} g_{0} a_{m+1} b_{0} = 0 {24}$$

which \Rightarrow $a_m = 0$, m = s, s - 1, ..., -s + 1. Then (19) with $m = -s + 1 \Rightarrow \ldots$

$$\frac{1}{2} g_{-s} g_{m'} a_{-s} b_{m'+1} = 0 {(25)}$$

With m' = -1 this gives $g_{-s}g_{-1}a_{-s}b_{o} = 0$ which $\Rightarrow a_{-s} = 0$. Thus, all $a_{m} = 0$ in case 2.2 and there is no solution.

CASE 2.3 k = 2s

(19) with m' = -s + 1 in this case \Rightarrow

$$g_{m}g_{-s}a_{m+1}b_{-s}=0$$
 (26)

With m = s - 1, s - 2, ..., -s, this $\Rightarrow a_m = 0$, m = s, s - 1, ..., -s + 1.

(19) with m' = -s then gives

$$- ms a_{m}b_{-s} = 0$$
 (27)

with m = -s this $\Rightarrow a_{-s} = 0$.

Thus, all $a_m=0$ in case 2.3, and there is no solution. This exhausts all possibilities. Thus, we conclude, there is no non-zero solution of (19). In other words, the only solution of (15) is $\phi_1\phi_2=0$, which is of no physical interest.

To summarize the results proved so far, which are all for N=2: We have proved that Eq. (3) has no solution with $\Psi\neq 0$ when $\lambda=0$. Since from Eq. (4) we have that $\overrightarrow{\sigma}_2=0$ implies

 $\lambda=0$ if $\Psi\neq 0$, the only solutions with $\Psi\neq 0$ occur for $\overrightarrow{\sigma}_2\neq 0$. These are given by (14).

For General N:

Take the scalar product of (2) with $\phi_{\,3}\,(3)\phi_{\,4}\,(4)\ldots\phi_{\,N}\,({\rm N})$ and obtain

$$\left[\overrightarrow{s}_{1} \cdot \overrightarrow{s}_{2} + \sum_{k \geq 2} \overrightarrow{\sigma}_{k} \cdot (\overrightarrow{s}_{1} + \overrightarrow{s}_{2}) + \sum_{k > j > 2} \overrightarrow{\sigma}_{j} \cdot \overrightarrow{\sigma}_{k}\right] \phi_{1}(1) \phi_{2}(2) = \lambda \phi_{1}(1) \phi_{2}(2)$$

$$(28)$$

where again $\overrightarrow{\sigma_{i}} \equiv \langle \phi_{j} | \overrightarrow{s} | \phi_{j} \rangle$.

As for N = 2, we consider two cases: (a) $\Sigma \overrightarrow{\sigma_k} \neq 0$ and (b) $\Sigma \overrightarrow{\sigma_k} = 0$. Let $\Sigma_{12} \equiv \Sigma \overrightarrow{\sigma_k}$. If $\Sigma_{12} = 0$, the eigenfunction in $\Sigma_{12} = 0$ is well known to be $\Sigma_{12} = 0$, the quantization axis being parallel or antiparallel to $\Sigma_{12} = 0$, (28) reduces to (3), in which $\Sigma_{12} = 0$ is replaced by $\Sigma_{12} = 0$, (28) reduces to eigenfunction of (28) is $\Sigma_{12} = 0$, but with quantization axis undetermined.

If next we repeat this development with 1 and 2 replaced by i and j we obtain instead of (28)

$$\begin{bmatrix} \vec{\mathbf{s}}_{\mathbf{i}} \cdot \vec{\mathbf{s}}_{\mathbf{j}} + \vec{\Sigma}_{\mathbf{i}\mathbf{j}} & \cdot (\vec{\mathbf{s}}_{\mathbf{i}} + \vec{\mathbf{s}}_{\mathbf{j}}) + \sum_{\substack{\mathbf{k} > \ell \\ \neq \mathbf{i}, \mathbf{j}}} \vec{\sigma}_{\mathbf{k}} \cdot \vec{\sigma}_{\ell} \end{bmatrix} \phi_{\mathbf{i}} (\mathbf{i}) \phi_{\mathbf{j}} (\mathbf{j}) = \lambda \phi_{\mathbf{i}} (\mathbf{i}) \phi_{\mathbf{j}} (\mathbf{j})$$
(29)

with

$$\overrightarrow{\Sigma}_{ij} \equiv \sum_{k=1}^{N} \overrightarrow{\sigma}_{k}$$

$$k \neq i, j$$
(30)

This, of course, reduces to (28) when i=1 and j=2. The eigenfunctions, determined as for (28), are $\chi_s(i)\chi_s(j)$ where the quantization axis of χ_s is arbitrary if $\overrightarrow{\Sigma}_{ij}=0$ and along the axis of $\overrightarrow{\Sigma}_{ij}$ if $\overrightarrow{\Sigma}_{ij}\neq 0$. Now let i=1, and let j run from 2 to N. Then, we see that we must have $\phi_j=\chi_s$ for all j, with a single quantization axis, which is not specified. This is a consistent solution, since $\overrightarrow{\Sigma}_{ij}=\overrightarrow{\Sigma}=(N-2)s\hat{z}$ for all pairs i,j with \hat{z} the quantization axis, a consequence of $\overrightarrow{\sigma}_i=\overrightarrow{\sigma}=\langle\chi_s|\overrightarrow{s}|\chi_s\rangle=s\hat{z}$, independent of i. Finally, we have

$$\lambda = \sum_{i < j} \overrightarrow{\sigma}_{i} \cdot \overrightarrow{\sigma}_{j} = \frac{N(N-1)}{2} s^{2}$$

and hence from (2), $\sigma = Ns$.

Security Classification

DOCUMENT CON	TROL DATA -	R&D		
(Security classification of title, body of abstract and indexing	g annotation must be			
1, ORIGINATING ACTIVITY (Corporate author)		2a. REPORT SECURITY CLASSIFICATION Unclassified		
Lincoln Laboratory, M.I.T.	2b. GROUP None			
3. REPORT TITLE				
A Theorem on Spin-Eigenfunctions				
4. DESCRIPTIVE NOTES (Type of report and inclusive dates) Technical Note				
5. AUTHOR(S) (Last name, first name, initial)				
Kaplan, Thomas A. Kleiner, Walter H.				
6. REPORT DATE	7.a. TOTA	NO. OF PAGES	7b. NO. OF REFS	
24 May 1967		20	1	
8a. CONTRACT OR GRANT NO.	9a. ORIGI	NATOR'S REPORT N	IUMBER(S)	
AF 19 (628)-5167	Tec	hnical Note 1967-	-15	
b. Project no. 649L				
C.		R REPORT NO(S) (A ed this report)	ny other numbers that may be	
d.	ESI	D-TR-67-277		
11. SUPPLEMENTARY NOTES	12. SPONS	ORING MILITARY A	CTIVITY	
None	Air	Force Systems C	ommand, USAF	
A theorem is proved to the effect which is a product of single-spin wave the square of the total spin \overline{S} , must be of \overline{S}^2 and of S_Z , z being an arbitrary in a separate work by the authors to s symmetry restrictions of a common the lead to a very poor physical description	e functions and whe e a state with the direction. This t how strikingly the ype on an approxi	ich is an eigensta maximum possibl heorem has been a at the imposition of	te of e value applied f	

		,
		4
		ě



